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Binomial every
chance is independent of others

all experimentshave same chance of success

Experiment has two possibleoutcomes

Success

failure
even if actual experiment has

many
outcomes

Flip a coin Rolling a die

Sukess heads success even

failure tails failure odd

Bernoultitiad
perform experiment w two possible outcomes s f

Success probability ID
failure probability I

p is fixed outcome of one trial does not impact
outcome of another



Binomial Distr
Conduct if Bernoulli tries

X random variable associated with

number of successful trials

what's the probability that X

flip a coin

success heads
failure tails
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what this looks like
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p p p

All together

Pr x 4 É 47,3 273

I

Binomialformty
Prlx k 1 p tp

Spin a roulette heel

numbered 1 38

Win 10

lose 1

Beta lied 1938

X

E x 10 1938 t 1.2938

4.21

VEX 10 4.213.10138 1 4.21 20138

21.343 T
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Prix 4 I 132

Pr x 24 C 02 132
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Dois p
Random Variable X of occurrences

any rate of occurrences things day
regular time intervals on any

arg rate
indu time intervals sometimes less sometimes mere

e will in formula base of en 2.71

X ppl at Shillman Dunkin in a bar

who walk in

hour intervals

on avg
60 people walk in

X 60

Pr X 5 Pr 5 ppl walk in K 5

over as her

Poisson Formula

p Prak diff

Pr x 5 I
5.67 10
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probability in

a given har of

being off from avg

Pr xiao 051 or actuary
actuary

Prix 500 é
google can't in

N X 100 e 90.60

T
6.12 107



P.ProbabilityExamped

Halloween
candy

Draw 3 Candies

10 Choc ones Pr no chocolate

18 fruit ones

lordermatter lamerarentmed
1 an
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Plat least a I 779

Pr E YE 2.249

Pr at least one Choc 1 279


